i e E |M (& Multiplicera decimaler med 10,100,1000

namn: Datum: Poing:
7,437 x 10 = 4,021 x 1000 =
10,219 x 10 = 6,775 x 1000 =
2,066 % 100 = 5,989 x 100 =
8, 848 x 100 = 7,606 x 10 =
3,963 x 1000 = 1,675 % 100 =
10, 94 x 1000 = 9,333 % 10 =
3,997 x 1000 = 10, 049 x 1000 =
4,668 x 1000 = 4,376 x 100 =
3,738 x 100 = 4,046 x 10 =
8,195 x 10 = 6,037 x 1000 =
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i e E |M (& Multiplicera decimaler med 10,100,1000

namn: Datum: Poing;

7,437 x 10 = 74.37 4,021 x 1000 = 4021
10,219 x 10 = 102.19 6,775 x 1000 = 6775
2,066 x 100 = 206.6 5,989 x 100 = 598.9

8, 848 x 100 = 884.8 7,606 x 10 = 76.06
3,963 x 1000 = 3963 1,675 x 100 = 167.5
10, 94 x 1000 = 10940 9,333 x 10 = 93.33
3,997 x 1000 = 3997 10, 049 x 1000 = 10049
4,668 x 1000 = 4668 4,376 x 100 = 437.6
3,738 x 100 = 373.8 4,046 x 10 = 40.46
8,195 x 10 = 81.95 6,037 x 1000 = 6037
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